

A Service of



Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre

Satterthwaite, Mark A.; Sonnenschein, Hugo

### **Working Paper**

# Technical Note to 'Strategy-Proof Allocation Mechanisms'

Discussion Paper, No. 396

#### **Provided in Cooperation with:**

Kellogg School of Management - Center for Mathematical Studies in Economics and Management Science, Northwestern University

Suggested Citation: Satterthwaite, Mark A.; Sonnenschein, Hugo (1979): Technical Note to 'Strategy-Proof Allocation Mechanisms', Discussion Paper, No. 396, Northwestern University, Kellogg School of Management, Center for Mathematical Studies in Economics and Management Science, Evanston, IL

This Version is available at: https://hdl.handle.net/10419/220756

#### Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.

#### Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.



Discussion Paper No. 396

Technical Note to "Strategy-proof Allocation Mechanisms"

bу

Mark A. Satterthwaite Graduate School of Management Northwestern University

and

Hugo Sonnenschein Department of Economics Princeton University

August, 1979

.

# Technical Addendum to "Strategy-Proof Allocation Mechanisms"

bу

Mark A. Satterthwaite Northwestern University

Hugo Sonnenschein Princeton University

In our paper [1] we presented a proof of Lemma 3 that is only valid for the case where each agent's constraint set  $B_j(u)$  is a  $\ell-1$  dimensional manifold. Our results, however, are in terms of the general case where  $B_j(u)$  may have any dimension  $m_j$ ,  $0 \le m_j \le \ell-1$ . Therefore this addendum presents a general proof of Lemma 3 that, because of its length, was not included in our main paper.

Lemma 3. If  $\sigma$  is strategy-proof and satisfies BA, then, for all  $i \neq j$ ,  $\tilde{S}^{ij} \supset S^{ij}$  where  $\tilde{S}^{ij}$  denotes the closure of  $\tilde{S}^{ij}$ .

Proof. Suppose the Lemma is not true. A  $\overline{u} \in \mathcal{R}$  therefore exists such that:

- a.  $i A(\overline{u}) j$  and not  $i A(\overline{u}) j$  and
- b. a neighborhood  $N(\overline{u}) = N(\overline{u}_1) \times N(\overline{u}_2) \times \ldots \times N(\overline{u}_n) \subseteq \mathcal{R}$  exists for which  $u \in N(\overline{u})$  implies i A(u) j and not i  $\widetilde{A}(u)$  j.

Regularity and BA imply that we may select a neighborhood  $\hat{N} = N(\sigma_j(\overline{u})) \subseteq X$  so that (a) corresponding to each x in  $B_j(\overline{u}) \cap \hat{N}$  is an admissible utility function  $u_j^x \in N(\overline{u}_j)$  that has its maximum on  $B_j(\overline{u})$  at x and (b) for all

 $u \in N(u)$ , the manifold  $B_j(u) \cap \hat{N}$  is smooth, continuously differentiable in u, and m-dimensional where  $0 \le m \le \ell - 1$ . Note that because  $\sigma$  is strategy-proof  $\sigma_j(\overline{u}\backslash u_j^x) = x$ .

First we consider the harder case where  $1 \leq m \leq \ell-1$ . The second case where m=0 is deferred until the end. Pick an arbitrary  $v_i \in C^2(X)$ . For all  $u \in N(\overline{u})$ , not i  $\widehat{A}(u)$  j by hypothesis. This means that  $D_{(v_1)}u_j\sigma_j(u)=0$  for all  $u \in N(\overline{u})$ . Define  $\widehat{B}_j(\lambda) = \{x \in \widehat{N} | \exists u_j' \in N(\overline{u}_j) \text{ s.t. } x = \sigma_j(\overline{u} \setminus u_j', \overline{u}_i + \lambda v_i) \}$  where the scalar  $\lambda$  is contained in some neighborhood  $\Lambda$  of zero and  $(\overline{u} \setminus u_j', \overline{u}_i + \lambda v_i) = (\overline{u}_1, \dots, \overline{u}_{j-1}, u_j', \overline{u}_{j+1}, \dots, \overline{u}_{i-1}, \overline{u}_i' + \lambda v_i, \overline{u}_{i+1}, \dots, \overline{u}_n)$ . Because  $\widehat{B}_j(\lambda)$  is m-dimensional within  $\widehat{N}$ , it is representable as the solution of  $\ell$ -m  $\equiv$  L continuously differentiable functions:  $\widehat{B}_j(\lambda) = \{x \in \widehat{N} | f_k(x, \lambda) = 0 \}$  where  $M = \{1, \dots, L\}$ . We show as a first step that not i  $\widehat{A}(u)$  j for all  $u \in N(\overline{u})$  implies, for all  $k \in M$  and all  $x \in \widehat{B}_j(0)$ ,

$$\frac{\partial f_k(x,\lambda)}{\partial \lambda} = 0$$

when evaluated at  $\lambda$  = 0. In the second step we show that (1) implies  $D_{(v_1)}\sigma_{\mathbf{j}}(\overline{\mathbf{u}}) = 0, \text{ which contradicts the hypothesis that i } A(\overline{\mathbf{u}}) \text{ j and therefore completes the proof for this case where } 1 \leq m \leq \ell-1.$ 

That not i  $\tilde{A}(u)$  j for all  $u \in N(\overline{u})$  implies (1) is seen as follows. Pick an  $x \in \hat{B}_{j}(0)$  and let  $u_{j}^{x} \in N(\overline{u}_{j})$  be maximized on  $\hat{B}_{j}(0)$  at x. Define  $\sigma_{j}(\lambda) = \sigma_{j}(\overline{u}_{1}, \ldots, \overline{u}_{i-1}, \overline{u}_{i} + \lambda v_{i}, \overline{u}_{i+1}, \ldots, \overline{u}_{j-1}, u_{j}^{x}, \overline{u}_{j+1}, \ldots, \overline{u}_{n})$ . Since  $\sigma$  is strategy-proof  $\sigma_{j}(\lambda)$  solves, for all  $\lambda \in \Lambda$ , the maximization problem  $\max_{y \in \hat{N}} u_{j}^{x}(y)$  subject to  $f_{k}(y,\lambda) = 0$ ,  $\forall k \in M$ . Regularity implies that the usual first order conditions hold; thus

(2) 
$$\nabla \mathbf{u}_{\mathbf{j}}^{\mathbf{x}} [\hat{\sigma}_{\mathbf{j}}(\lambda)] = \sum_{\mathbf{k} \in \mathbf{K}} \delta_{\mathbf{k}}(\lambda) \nabla f_{\mathbf{k}} [\hat{\sigma}_{\mathbf{j}}(\lambda), \lambda]$$

$$f_{\mathbf{k}}(\hat{\sigma}_{\mathbf{j}}(\lambda), \lambda) = 0 \quad \forall \mathbf{k} \in \mathbf{M}$$

where  $\nabla u_j^x$  and  $\nabla f_k$  are the gradients with respect to x of  $u_j^x$  and  $f_k$  respectively and the  $\delta_k(\lambda)$  are the Lagrangian multipliers as functions of  $\lambda$ .

By hypothesis, not i  $\lambda(\overline{u}u_j^x)$  because  $(\overline{u}u_j^x)$   $\in N(\overline{u})$ . Suppose not i  $\lambda(u_j^x)$  does not imply  $\partial f_k(x,0)/\partial \lambda = 0$  i.e. a nomempty  $M_1 \subseteq M$  exists such that  $\partial f_k(x,0)/\partial \lambda \neq 0$  if and only if  $k \in M_1$ . Feasibility of the solution  $\hat{\sigma}_j(\lambda)$  implies that, for all  $k \in M$  and  $\lambda \in \Lambda$ ,  $f_k(\hat{\sigma}_j(\lambda), \lambda) = 0$ . Differentiation with respect to  $\lambda$  gives, for all  $k \in M$ ,

(3) 
$$\nabla f_{\mathbf{k}}[\hat{\sigma}_{\mathbf{j}}(0), 0] \cdot \frac{d\hat{\sigma}_{\mathbf{j}}(0)}{d\lambda} + \frac{\partial f_{\mathbf{k}}[\hat{\sigma}_{\mathbf{j}}(0), 0]}{\partial \lambda} = 0.$$

This implies that, for all  $k \in M_1$ ,

$$\forall f_{k}[\hat{\sigma}_{j}(0),0] \cdot \frac{d\hat{\sigma}_{j}(0)}{d\lambda} = \begin{cases} \text{not } 0 \text{ if } k \in M_{1} \\ 0 \text{ if } k \notin M_{1} \end{cases}$$

The assumption not i  $\stackrel{\sim}{A}(\overline{u}\backslash u_i^X)$  j implies that

(5) 
$$\frac{d\mathbf{u}_{\mathbf{j}}^{\mathbf{x}}[\hat{\sigma}_{\mathbf{j}}(0)]}{d\lambda} = \nabla \mathbf{u}_{\mathbf{j}}^{\mathbf{x}}[\hat{\sigma}_{\mathbf{j}}(0)]. \frac{d\hat{\sigma}_{\mathbf{j}}(0)}{d\lambda} = 0$$

Substituting (2) into (5) in conjunction with (4) results in

(6) 
$$\sum_{k \in M_1} \delta_k(0) \nabla f_k[\hat{\sigma}_j(0), 0] \cdot \frac{d\hat{\sigma}_j(0)}{d\lambda} = 0.$$

where  $\nabla f_k \cdot d\hat{\sigma}_j/d\lambda \neq 0$  for each k  $\epsilon$  M $_1$ . Pick scalar weights  $\alpha_k$  such that (a),

We follow the convention that  $\nabla u_{\mathbf{j}}^{\mathbf{x}}[\hat{\sigma}_{\mathbf{j}}(\lambda)]$  represents the gradient of  $u_{\mathbf{j}}^{\mathbf{x}}$  evaluated at  $\hat{\sigma}_{\mathbf{j}}(\lambda)$ . Similarly  $\nabla f_{\mathbf{k}}[\hat{\sigma}_{\mathbf{j}}(\lambda),\lambda]$  represents the gradient of f with respect to  $\mathbf{x}$  evaluated at  $(\hat{\sigma}_{\mathbf{j}}(\lambda),\lambda)$ .

(7) 
$$\sum_{k \in M_1} \alpha_k \nabla f_k \left[ \hat{\sigma}_j(0), 0 \right] \cdot \frac{d\hat{\sigma}_j(0)}{d\lambda} \neq 0$$

and (b), for each  $k \not\in M_1$ ,  $\alpha_k = 0$ . Define  $v_j(x) \equiv \sum_{k \in M} \alpha_k f_k(x,0)$ .

Broad applicability implies that, for a small enough scalar  $\gamma > 0$ ,  $\hat{u}_j^x = u_j^x + \gamma v_j$  is an element of  $N(u_j^x)$ . That  $\hat{\sigma}_j(0)$  maximizes  $\hat{u}_j^x$  on  $\hat{B}_j(0)$  is a consequence of regularity and the fact that the first order conditions continue to hold at  $\hat{\sigma}_j(0)$ :

where the second line is obtained by substituting from (2) and (7) and rearranging. But

$$\nabla \hat{\mathbf{u}}_{\mathbf{j}}^{\mathbf{x}}[\hat{\boldsymbol{\sigma}}_{\mathbf{j}}(0)] \cdot \frac{d\hat{\boldsymbol{\sigma}}_{\mathbf{j}}(0)}{d\lambda} = \nabla \mathbf{u}_{\mathbf{j}}^{\mathbf{x}}[\hat{\boldsymbol{\sigma}}^{\mathbf{j}}(0)] \cdot \frac{d\hat{\boldsymbol{\sigma}}_{\mathbf{j}}(0)}{d\lambda} + \gamma \nabla \mathbf{v}_{\mathbf{j}}[\hat{\boldsymbol{\sigma}}_{\mathbf{j}}(0)] \cdot \frac{d\hat{\boldsymbol{\sigma}}_{\mathbf{j}}(0)}{d\lambda}$$

$$(9) = \gamma \nabla v_{j} [\hat{\sigma}_{j}(0)] \cdot \frac{d\hat{\sigma}_{j}(0)}{d\lambda}$$

**≠** 0.

where the inequality follows from (7) and the definition of  $v_j(x)$ . This implies that  $D_{(v_1)} \hat{u}_j^x \sigma_j(\overline{u} \backslash \hat{u}_j^x) \neq 0$  because  $\hat{\sigma}_j(\lambda)$  is a feasible (if not optimal) path for agent  $\hat{u}_j^x$  to follow when  $\lambda$  varies. Thus i  $\widehat{A}(\overline{u} \backslash \hat{u}_j^x)$  j and if  $\partial f_k(x,0)/\partial \lambda \neq 0$  for some  $x \in \widehat{B}_j(0)$ , a  $\hat{u}_j^x$  exists such that (a)  $(\overline{u} \backslash \hat{u}_j^x) \in N(\overline{u})$  and (b) i  $\widehat{A}(\overline{u} \backslash \hat{u}_j^x)$ , which contradicts the hypothesis that not i  $\widehat{A}(u)$  j for all  $u \in N(\overline{u})$ . Therefore  $\partial f_k(x,0)/\partial \lambda = 0$  for all  $x \in \widehat{B}_j(0)$ . A useful implication of this follows directly from (3): for all  $k \in M$ ,

(10) 
$$\nabla f_{k}[\hat{\sigma}_{j}(0),0] \cdot \frac{d\hat{\sigma}_{j}(0)}{d\lambda} = 0.$$

This completes the first step of this case's proof.

Step two of the proof is to show that if not i  $A(\overline{u})$  j and if  $\partial f_k(x,0)/\partial \lambda=0$  for all  $x \in \hat{B}_j(0)$  and  $k \in M$ , then, for all  $v_i \in C^2(X)$ ,  $D_{(v_i)} \sigma_j(\overline{u}) = 0$ , which is to say that not i  $A(\overline{u})$  j. Let  $\hat{\sigma}_j(\lambda) = \sigma_j(\overline{u} \setminus \overline{u}_i + \lambda v_i)$ , i.e. in the notation of the first step  $\overline{u}_j = u_j^x$ . Suppose the result is not true, i.e. a  $v_i$  does exist such that  $D_{(v_i)} \sigma_j(\overline{u}) = d\hat{\sigma}_j(0)/d\lambda \neq 0$ .

Rotate and translate the coordinate system of X so that (a) the origin is  $\mathbf{x}_0 = \hat{\sigma}_{\mathbf{j}}(0) = \sigma_{\mathbf{j}}(\overline{\mathbf{u}})$ , (b) the  $\mathbf{x}_1$  axis is in the direction  $d\hat{\sigma}_{\mathbf{j}}(0)/d\lambda$ , and (c) the  $\mathbf{x}_2$  axis is in the direction  $\nabla \overline{\mathbf{u}}_{\mathbf{j}}[\hat{\sigma}_{\mathbf{j}}(0)]$ . Requirements (b) and (c) are consistent because not i  $\widehat{\mathbf{A}}(\overline{\mathbf{u}})$  j implies orthogonality of  $\nabla \overline{\mathbf{u}}_{\mathbf{j}}[\hat{\sigma}_{\mathbf{j}}(0)]$  and  $d\hat{\sigma}_{\mathbf{j}}(0)/d\lambda$ . The directions of the remaining  $\ell-2$  axes may be set arbitrarily, provided orthogonality is preserved.

The first order conditions (2) may be differentiated with respect to  $\boldsymbol{\lambda}$  to obtain:

U <sub>11</sub>	<sup>U</sup> 12		u <sub>1</sub> l	$\frac{\partial f_1(x_0,0)}{\partial x_1}$	•••	$\frac{\partial f_{L}(x_{0},0)}{\partial x_{1}}$
<sup>U</sup> 21	<sup>U</sup> 22		u <sub>2</sub> l	$\frac{\partial f_1(x_0,0)}{\partial x_2}$	•••	$\frac{\partial^{f_L(x_0,0)}}{\partial^{x_2}}$
•••		•••	•••	•••	•••	
<sup>U</sup> & 1	<sup>U</sup> l 2	,•••	U <sub>ll</sub>	3 f <sub>1</sub> (x <sub>0</sub> ,0)	•••	3 f <sub>L</sub> (x <sub>0</sub> ,0)
$\frac{\frac{\partial f_1(x_0,0)}{\partial x_1}}{\frac{\partial x_1}{\partial x_1}}$	$\frac{\partial f_1(x_0,0)}{\partial x_2}$		θf <sub>1</sub> (x <sub>0</sub> ,0) θx <sub>k</sub>	0		0
•••	•••	•••		•••		
$\frac{\frac{\partial f_L(x_0,0)}{\partial x_1}}{\frac{\partial x_1}{\partial x_1}}$	$\frac{\partial f_L(x_0,0)}{\partial x_2}$		$\frac{\partial f_L(x_0,0)}{\partial x_\ell}$	0	•••	0

(11)

$$\begin{array}{c|c}
\frac{d\hat{\sigma}_{j1}(0)}{d\lambda} \\
\frac{d\hat{\sigma}_{j2}(0)}{d\lambda} \\
\vdots \\
\frac{d\hat{\sigma}_{j\ell}(0)}{d\lambda}
\end{array} = 
\begin{bmatrix}
\sum_{k \in M} \delta_{k}(0) \frac{\partial f_{k}(x_{0}, 0)}{\partial x_{1} \partial \lambda} \\
\vdots \\
\sum_{k \in M} \delta_{k}(0) \frac{\partial f_{k}(x_{0}, 0)}{\partial x_{2}} \\
\vdots \\
\sum_{k \in M} \delta_{k}(0) \frac{\partial f_{k}(x_{0}, 0)}{\partial x_{2}} \\
\vdots \\
\frac{\partial f_{k}(x_{0}, 0)}{\partial \lambda}
\end{bmatrix}$$

$$-\frac{\partial f_{k}(0)}{\partial \lambda} \\
\vdots \\
-\frac{\partial f_{k}(x_{0}, 0)}{\partial \lambda}$$

$$-\frac{\partial f_{k}(x_{0}, 0)}{\partial \lambda}$$

where

$$\mathbf{U}_{\mathrm{IJ}} = \frac{\partial^{2}\mathbf{u}_{\mathbf{j}}(\mathbf{x}_{0})}{\partial \mathbf{x}_{\mathbf{l}} \partial \mathbf{x}_{\mathbf{j}}} - \sum_{\mathbf{k} \in M} \delta_{\mathbf{k}}(0) \frac{\partial^{2}\mathbf{f}_{\mathbf{k}}(\mathbf{x}_{0}, 0)}{\partial \mathbf{x}_{\mathbf{l}} \partial \mathbf{x}_{\mathbf{j}}}.$$

The choice of coordinate system immediately entails three conclusions. First, the orientation of the  $\mathbf{x}_1$  axis means that

$$(12) \qquad \frac{\partial \hat{\sigma}_{jI}(0)}{\partial \lambda} = \begin{cases} \text{not } 0 \text{ if } I = 1 \\ \\ 0 \text{ if } I \in \{2, \dots, \ell\} \end{cases}.$$

Second, equation (10) together with (12) implies that  $\partial f_k(x_0,0)/\partial x_1=0$  for all  $k \in M$ . Third, the proof's first step established that, for all  $x \in \hat{B}_j(0)$  and all  $k \in M$ ,  $\partial f_k(x,0)/\partial \lambda=0$ ; therefore  $\partial^2 f_k(x_0,0)/\partial x_1\partial \lambda=0$  for all  $k \in M$  because (a) movement in the direction of  $d\hat{\sigma}(0)/d\lambda$  is, by definition of the coordinate system, movement out along the  $x_1$  axis and (b) the orthogonality of  $d\hat{\sigma}(0)/d\lambda$  and each  $\nabla f_k(x_0,0)$  implied by (10) means that the movement out along the  $x_1$  axis is movement within  $\hat{B}_j(0)$ . In addition, the second order conditions for  $\hat{\sigma}_j(0)$  to be a regular maximum require that  $U_{11} \neq 0$ . These restrictions on the values that terms within (11) may take reduce the first of the  $\ell$  + L equations of (11) to

(13) 
$$U_{11} = \frac{d \hat{\sigma}_{j1}(0)}{d \lambda} = 0.$$

Since  $U_{11} \neq 0$ , necessarily  $d\hat{\sigma}_{j1}(0)/d\lambda = 0$ , which contradicts the assumption  $i \ A(\overline{u})$  j. This completes the proof for the case  $1 \leq m \leq \ell-1$ .

The proof for m=0 is simpler. Dimensionality of zero for  $B_j(u)$  for all  $u \in N(\overline{u})$  implies that  $B_j(u)$  is just a point in X, i.e. j's allocation is imposed on him by the other agents. The hypothesis that i  $A(\overline{u})$  j means that i can move the point  $B_j(u)$  in X, i.e. a  $v_j \in C^2(X)$  exists such that

(14) 
$$\frac{d \hat{\sigma}_{j}(0)}{d\lambda} = \frac{d\hat{B}_{j}(0)}{d\lambda} \neq 0$$

where  $\hat{\sigma}_{j}(\lambda) = \sigma_{j}(\overline{u} \setminus \overline{u}_{i} + \lambda v_{i})$  and  $\hat{B}_{j}(\lambda) = B_{j}(\overline{u} \setminus \overline{u}_{i} + \lambda v_{i})$ . The hypothesis that not  $i \stackrel{\sim}{A}(\overline{u})$  j implies that

(15) 
$$\nabla \overline{u}_{j} [\sigma_{j}(\overline{u})] \cdot \frac{d\hat{B}_{j}(0)}{d\lambda} = 0.$$

Pick a  $v_i \in C^2(X)$  such that

(16) 
$$\nabla \mathbf{v}_{\mathbf{j}} [\sigma_{\mathbf{j}}(\overline{\mathbf{u}})] \cdot \frac{d\hat{\mathbf{B}}_{\mathbf{j}}(0)}{d\lambda} \neq 0.$$

BA guarantees the existence of a scalar  $\gamma > 0$  small enough such that  $\hat{u}_{j} \equiv \overline{u}_{j} + \partial v_{j} \in N(\overline{u}_{j})$ . Thus

(17) 
$$\nabla \hat{\mathbf{u}}_{\mathbf{j}} [\sigma_{\mathbf{j}} (\overline{\mathbf{u}})] \cdot \frac{d\hat{\mathbf{B}}_{\mathbf{j}} (0)}{d\lambda} = \{ \nabla \overline{\mathbf{u}}_{\mathbf{j}} [\sigma_{\mathbf{j}} (\overline{\mathbf{u}})] + \nabla \mathbf{v}_{\mathbf{j}} [\sigma_{\mathbf{j}} (\overline{\mathbf{u}})] \} \cdot \frac{d\hat{\mathbf{B}}_{\mathbf{j}} (0)}{d\lambda} \neq 0.$$

which is to say that i  $\widetilde{A}(\overline{u}\backslash \widehat{u}_j)$  j. Moreover, since  $\widehat{u}_j \in N(\overline{u}_j)$ ,  $(\overline{u}\backslash \widehat{u}_j) \in N(\overline{u})$ . Therefore i  $\widetilde{A}(\overline{u}\backslash \widehat{u}_j)$  j contradicts the hypothesis that not i  $\widetilde{A}(u)$  j for all  $u \in N(\overline{u})$ . This completes the proof for the second case where m=0 and thus completes the proof of the entire Lemma.

It is permissible to write  $dB_{j}(0)/d\lambda$  because  $\hat{B}_{j}$  is a point.

## Reference

[1] Satterthwaite, M. and H. Sonnenschein, "Strategy-Proof Allocation Mechanisms," Discussion Paper No. 395, Center for Mathematical Studies in Economics and Management Science, Northwestern University, August 1979.